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Instructions:

1. All questions are compulsory.

2. Figures to the right indicate full marks.

3. Make suitable assumptions wherever necessary.
4. Start new question on new page.

Marks
Q.1 Do As Directed. 06
A
1 “Star light, star bright,
First star I see tonight,
I wish I may, I wish I might,
Have the wish (1) [ wish (2) tonight”
What does the two same bold words mean?
(A) | Wish 1 —Noun, Wish 2 - Verb (B) | Wish 1 — Noun, Wish 2 - Adverb
(C) | Wish 1 — Verb, Wish 2 - Noun (D) | Wish 1 — Adverb, Wish 2 - Noun
2 | Fillmore proposes that some elements of language use are at first and
then become .
(A) | Conscious, Unintentional (B) | Conscious, Unconscious
(C) | Unconscious, Conscious (D) | Intentional, Unconscious
3 | Pitch is measure by
(A) | Intensity (B) | Frequency
(C) | Hertz (D) | Decibels
4 | In which year did the New Education Policy come up with the Three Language
Formula?
(A) | 1968 (B) | 1896
(C) | 1986 (D) | 1869
5 | A period of growth in which full native competence is possible when acquiring a
language.
(A) | Language Acquisition Device (B) | First Language Acquisition
(C) | Critical Period Hypothesis (D) | Second Language Acquisition
6 | Being fluent in at least two languages is known as
(A) | Multilingualism (B) | Lingualism
(C) | Monolingualism (D) | Bilingualism
7 | Who is the main proponent of Behaviorism?
(A) | B. F. Skinner (B) | Noam Chomsky
(C) | Einstein (D) | Vygotsky




8 | Choose the odd one out
(A) | Anaconda (B) | Cobra
(C) | Snake (D) | Python
9 | This psychological factor is essential for any language production.
(A) | Ego (B) | Input
(C) | Anxiety (D) | Motivation
10 | The beats that fall on the stressed syllables of certain words in phrases and sentences
determine the of English.
(A) | Rhythm (B) | Intonation
(C) | Pitch (D) | Length
11 | Which state opposed Hindi language?
(A) | Kerela (B) | Tamil Nadu
(C) | Karnataka (D) | Telangana
12 | Which of the following is a hypernym?
(A) | Bollywood (B) | Salman Khan
(C) | Shahrukh Khan (D) | Aamir Khan
B. |Terms / Short Notes / Case Study / Charts / Graphs/ Tables, etc. (04)
1 |What is Acquisition?
2 |What are Hypernyms?
3 |Name a few Diectic expressions (Minimum 4).
4 |What is the full form of LAD?
Q.2 |Answer the following.
1 |Explain in brief any two of the following: 04)
(1) Hypernyms
(i)  Homophones
(111) Antonyms
2a (What is Communicative Competence? Describe a few activities on how you would 04)
achieve Communicative Competence in a classroom setting.
OR
2b | Explain how a baby acquires his/her mother tongue. Cite examples. 04)
Q.3 |Answer the following.
1 |Explain any two theories/approaches of FLA in detail. (05)
2a (What is Semantics? Explain any two of the given theories of Meaning in detail with 05)
examples:
(1) Denotational Theory
(i1))  Sense Theory
(i11)  Mentalist Theory
OR
2b | Describe Loudness, Pitch and Intonation with examples of your own 05)
Q.4 |Answer the following.
1 |Read the following text and answer the questions given below: (06)

Dr Tomas Streyer looked around the control room at his team of scientists and
engineers. He was pretending to be calm, but he was both excited and terrified. The next
few minutes would be the starting point of years more research towards understanding
the secrets of how the universe began.

He looked out of the window at the beautiful blue summer sky and took a deep breath.




'Ready," he said, and pressed the first button, bringing to life the complicated computers
and machines around them.

'Set,' he said, and pressed the second button, switching on the huge particle accelerator
that lay in a huge underground laboratory, deep beneath the towns and fields of
Switzerland.

'Go,' he said, at exactly twelve o'clock, and pressed the final button.

For a second, everything went absolutely black, as if he had gone blind. Tomas cried out
in shock, but the lights were already on again. Whatever that was, it was not supposed to
have happened.

'Everybody check the systems!' he ordered, but nothing seemed to be wrong with them.
The particle accelerator was working, just as he had hoped it would.

'Look outside,' said Tomas's assistant in a frightened voice.

Instead of the perfect summer day of five minutes ago, the sky was darker than the
blackest night. Not only had the sun disappeared, there weren't even any stars. For 1,596
black nights — nearly four and a half years — there was no change to the night sky. It
would take 1,596 nights to pass the nearest star, and another 1,596 nights for that star's
light to reach the Earth again.

And then one night, another 1,596 nights later, almost nine years after the disaster,
Tomas looked up from his telescope and saw Alpha Centauri twinkling back at him.

The first star.

He wiped the tears from his eyes and made a wish. Billions of other people's wishes
followed right after it.

- Story written by Andrew Leon Hudson and adapted by Nicola Prentis.

Answer the following questions:

(1) Find the synonym of ‘terrified’ from the text above

(i1) What does the word ‘cried” mean in the line “Thomas cried out in shock...”?
What different meanings does the word ‘cried’ have?

(i11))  Give hyponyms of Emotions from the text above

(iv)  What is the hypernym of Alpha Centauri?

(v) Give synonyms of ‘twinkling’ (At least 2)

(vi)  Give the different meanings of the word ‘switch’. Write one sentence for each.

2a | Differentiate between bilingualism and Multilingualism (06)
OR
2b |Discuss the three-language formula and its criticisms. (06)
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